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Hermitian operators
000 A, BO,0000000 ¢(z),4(z) 000, O
(V]Alg) = (¢|Blv) (= (BY|9)) (1)

O000000,B0 AO Hemite 00000000, B=A'000.
A=A"000,A40 Hermite 0000D00000. A=-A'000, A
00 Hermite 000000000,

HRERN

000 A,B,C0000.000,4 (z000000),2(000 0
00),1(00000)000000000.00000 f(z 0000

ABf(x) = BAf(x) = Cf(x).

0000000, C = [A,B| 000, [ABl0O00DOOO. 00O
[A, Bl f(x) := ABf(x) — BAf(x).

[11-1] Hermitian operators

1. 000 ADOO (000000)eeCOOOO, (eA) =a*Al OO
oooooo.
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2. A0 Hemmite 000,000 [000) 000, aA O Hermite [0
Hermite] OO O0O0OOOOOOO.

3. A,B O Hermite 000000, {A,B} := AB+ BA O Hermite O
O00. [A,B]:=AB—-BAOO Hermite 00000000000,
000000 A, BOOOO (AB) =BiAI0D0OODOOOOD
ooo.

4. 000 a,p=—ihi H=2-0 hermitan 0000000 0.

Hint. 00000000000000000 ¢(z)0,000000 |z —
o0 Y(z)— 0000000,

5. 0000000000 (AN =A, (AB)t=BfAt OO0,

[11-2] Hermite 1000000,0000

1. Hermite 000 AOODOOOOOOOOOOODOO.

Hint. 100 AOQOOODO |¢) 0000: Al¢) = alg). 000 a =
($|Al¢) 0 @* 000000000000,

2.0 Hermite 0 O0O0OO00OO0OO0ODOODOOOOO.

3. Hermite 000 AD,000000000O0O0OCO0OODOOOO
ooooogoo.

Hint. 2000000 g251,§b2|:||:||:||:|14|¢1>:CL1|¢1>,‘A|¢2>:CL2|¢2>,CL17'é
a. 0000 (¢1]Al¢) 00000000, AD (¢, 000000
0000, |¢y D0000000ODO.

[11-3] 0OOOOO
1. 000 [»Z£]000D0.

2. o-00° - ax,p— —ht 0000000 [z,p] =h 0000
noooo.



3.000 A BOA=21(L+2), B=

gooog.

0O
0O
goo
goo

V2

B(z exp(—1?/2)),
(2AB + 1) exp(—2?/2),

[A, B,
[A, BY.



